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Notes: 03/27/14 BB Tas [ L ]l ==t |-E.E—
Time check for the day: I
6:30 AM|Paper both sides open. ES 614
6:45 AM|Short now Ask 1841.25 502
7:45 AM|Trading to Large Not thinking trades trough enough Bid 184125 323
8:00 AM Done for the day. Feels like CHOP from here out, or at least Wolume 2020520
’ until the afternoon rally or crash. e AT — oy
Beginning to look like | was 1.02:1 N‘I'EE— 12:55:18 M 1542 25 &00
11:00 AM|in just stopping my trading after last trade. It has been 1%‘31] E‘ EF"‘ 1%‘*@?9 Eﬁ;%
nothing but chop ever since. E.E;Zé_z F"rJ‘ 18an B0 03
1:00 PM|CC Paper both sides GS Selling 1-25 :1 NYSE [Slat b ASL 21 E]E P8 g&?g? E-?E
1:15 PM|Missed PC talking with daughter on phone. 11 fﬁﬁ? .-'_-'-."i"-'l 1232 50 EE&
ES Opening 104710 A 183975 79
15 MIN Range = Hi 1844 25 DELTA e I
Lo 183400 1025 83731 AM 183800 792
VALHigh - 1868.50 53045 AM 184135 1000
PoC - 186250 e
O i
VAL Low - 1852.00 16.50 7:53:00 AM 124600 500
300 PM 5412AM 184350 500
: 7:43:56 AM  1845.00 719
3:15PM 63750 .AM 183650 515
3:30 PM -
Trade-# | Instrument | Account | Market pos. | Quantity | Entry price | Bt price Entry time Bt time Bt name | Proft | Cum. profit | Commizsion | MAE | MFE | ETD
1 | ES0614 | Sm101 | Long 1 1844 | 1M05 | V2724 6:32 AN | 32772014 6:35 AW 17902 | 17802 402 | 175 | 125 (19152
2 | ES06M | Smi01 | Shot 1 183 1839 | V2466AM | 27204 G54 AM | Close | -B402 | 23104 402 50| 7B [ 12802
3 | ES0614 | Sm101 | Shot 1 183625 | 1839 | V24 63T AM | 2T2N46h4 AN | Close | -14152 | -17456 402 0|0 0
4 | ES0614 | Smil1 | Short 1 183625 | 1839 | VA4 63TAM | 2T2N46R4 AM | Close | -14152 | 51608 402 1375\ N25 | 25402
5 | ES0614 | Smi101 | Shot 1 18385 | 1839 | VE2NAG52AM | VZT2NAGRAAM | Close | 2902 | 5451 402 | B25 | 125 | f182
6 | ES0614 | Sm101 | Long 4 1839 | 1H5R | VIANAGKAAN | VITANAT AN | Close | 128352 | 73882 16.08 | 300 | 1600 | 316.08
TimelastTi Instrument PositionSiz Profifloss RealizedPr Unreslized BidPrice  AskPrice  LsstPrice DaibyWiolum ATR 2 min
| INTERACTIVE EROKERS 1
| 63116 A | ESOB14 £0.00 £0.00 £0.00 1841.50 18341.75 184150 261,380 0.982
B06:084A ES06-14 =000 £0.00 £0.00 1844 00 1844 25 1844 75 987.396 163
S1754 A ESO6-14 =0.00 s0.00 $0.00 183975 1840.00 154000 | 1.325246 169
I 10:35:67 | ESDE-14 s0.00 $0.00 <000 1840.50 1840.75 184050 | 1534641 1.32
110042 | ES06-14 $0.00 $0.00 £0.00 1240.00 184025 184025 | 1583535 12
| 1:00:05F  ESD06-14 £0.00 £0.00 £0.00 1841.25 1841.50 1841.25 | 1.966.257 1.42 |
1-14:58P | ESD6-14 S0.00 50.00 £0.00 1841.25 184125 184100 | 2020530 138

i | ]
What | did | right?: * Today | hung in there. *Owvercoming problem with missing first trade. *Stuck to
my guns on last trade out at right time as well.
What could | have done better?: * Fight less. * Take the money when | can. * Get to point where
trading core short or long.
What will | do better tomorrow?:
*Develop definite schedule tonight.
=

*Continue with SIM TRADING. *Work full day with breaks.




ES 06-14 (2 UniRenko T2R402) 3/27/2014

TopDog Waves(ES 06-14 (2 UniRenko T2R402) 45,55,10,1 50,3 5.2) -1850.00
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